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O (Type) D O7

microML O OCamlO O 0O

0 (OCamlDODDOOOOO)D

1 + true
10 (fun x — x + 1)
fun x — x x

OO000OmicroMLOOODOOODO1-200000000003000O0
oboboobobobobogonbog
OCaml OO0 UO00OO0OOOO(DODOOOOO)O

-~ OCamlO 0000000 (ef. OOODOOODDODOOUOODO;, 00000
O0oo0o0oooooon)
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Type System
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B. Pierce, “Types and Programming Languages”, MIT Press, 2002. (O O
O0oooooon)

A type system is a tractable syntactic method for proving the
absence of certain program behaviors by classifying phrases
according to the kinds of values they compute.
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000 (atomic type) VOiihﬁZ Eig :’E‘p, int *q) {

» [1: int, bool, string, ... *(q++) = *(p++);

O0000: 0000000000 (type constructor) DO 00000 }
> [ }
» COD: 000 (strucut)d 00 (union)D 0000000000
» JavaO0: 000 (DDODODOOOO0O)OODO coobooooboo.ooboboooooooooooa
> II;/II_D%%:DDDDDDDDDDDDDDD(éecDord)DDEIDI]IZI (variant), 0O OO » 000003000 g+ = #p++; 0000000000000
» Lisp/Scheme 0 0: SO (S expression) » cf. Scheme 00000000000 DOOODOOOOOODOOODOO

O0ooO00oo0o0ooOoooOooooOooo(ooooooo
O000000ooooooon)

0000 (OO0 o0oDbOoO0O0) pooooooog No.6: DOOOOOO l(DD) / 0000 (oooOoO ooooo) gooooooo No.6: OODODOOOO l(DD)
OCamlO O (1) OCamlO O (2)
oo ooouggog
1. 000 3.DDD(A—>B)

10 . int fun x - x + 1 : int — int
true : bool fun x — (x+1, x—1) : int — (int *x int)

"abe" . string fun x — [1; 2; 3] @ x @ [4; 5] : (int 1list) — (int list
let x = 10 in x % 2 + 3 : int )

(fun x - x *x 3 = 10) (5 + 1) : bool 0000
2. 000 (0 tupleD00DOO)AxBOOOODO A list fun £ = (f 10) * 5 : (int = int) — int

fun x - (fun y — x + y) : int — (int — int)

(10, 20, "abc") : int x int * string fun f — (fun x — (f(x+3))*2) : (int — int) — (int —
[10; 20; 30] : int 1list int)

[[10; 20]; [30; 40; 501] : (int 1list) 1list
goooooooggg List(A)DDDDDDDDDDDDD

0000 (DO0DO0 o0Oo00) OopDoooooo No.6: 00OD0OO0O 1(00) 8 /15 0000 (0000 oOoooo) oooooooo No.6: 00O0DOODOO 1(00O) 9/15



OCamlO O (3)

4, 00D0O0O0O0ODOOODOOOO (O00O)

type weekday = Monday | Tuesday | Wednesday | Thursday

Friday
Tuesday : weekday
type expr = CstI of int

| Prim of string * expr * expr

CstI(3) : expr
Prim("+", CstI(3),CstI (4)) : expr
Prim("+", Prim("x",CstI(3),CstI(4)),CstI(5)) : expr

uboboboboboooooobobobo
O000: GADT(OOODODOOODDODOOO0D)0ooooDOo0Oo

0000 (OO0 o0oDbOoO0O0) oooooooo

odvsddooooon

goad

000000 (Doo00ooooooooooooo):

int list
-> float 1list

int list ->
float list

Sort_int
Sort_float :

gopoogno Q(DDDDDDDDDDD):
o list)

Sort : HOa. (o list ->

000000 3(0000ooooooooon):

Sort : Oa ((a * a -> bool) -> (a 1list -> o 1list))
Sort (<) [10; 30; 20] = [10; 20; 30]
Sort (>) [10; 30; 20] = [30; 20; 10]
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O (1+"abc") 0000000 DODOOOODO
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OopDoooooo

0 (1+"abc") 0000000000 OOOOODOOOOOOO
» 00000 (type) DO OODOOOODOOODODOODODOOOODOO
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gogogogog
000000000 (Type Soundness):
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00000000000000oo(ooo0oUooUoooooOod

ooood
O00: 00000 (Co0)0oo0oU0oo0oUooooooUooO

gooogogogd let f x = x + 3 in
let g vy = £ (£ 10) in g (g 20)
» COO0O JavaOODO

» 0000000000000 DODO00000O0D0ODDO00O0O let rec f x =

00000000000 D0O000D0O0O0DOoOoOoooDooo if x = 0 then 91

else if (x mod 2) = 0 then f (x/2)

O00:00(000)0000000000000000000000 else if x = 100 then "Hi"
000000000000 D0ODDO0O00O0O else f (xx3 + 1)
» MLO OO HaskellO OO let rec tarai x y z =
» MLOOOOMMOOOO0OODODO0ODO0D000000D0oDonoo if x <= y then y

00000000000000000 else taral (taral (x—1) y z)

y
(tarai (y—1) z x)
(tarai (z—1) x

O000:tarai000000O0ODO
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